ligndta) 1
e T 3
3. [Arzrat BFA

3V dr=2
0
5. [37t&tR]
a—6 __ 20—2 .
5o =0 g =0> a=6b=
at+b="7
6. [
1\ (5 —1\(1)_(3
(f = 9) 2) (10—2)(2) (6)
a=3

= a

PlauB))=1-P4°UB)
A°NB=g
1-PA°UB=1-PA4)-P(B)= 1—30

AAAL - ThrowltAway, AlZ2UWA], Kudoya

BY o4

10.

11.

12.

13.

[oIxRI5A - =EA]
AF=a,BF=1b

1 1 1
i _= — VS = =
a+ b D Oﬂ 17 a 4ap 3

b=12
. BD= BF=12

[BE=]

xR} 1% A0 gERIS X
BEYFEER VAA

P(76 < X< 78)=P(05 < z<15)=0.2417

[B7=g - A4 Aa]

PO ABo] W Ao WS H
HOlA ABo| Y3 449 g A
PH =33, PH=40]0.2

HH'= 11 (4549 Ae)

S-DEN

a> 30 A] §> 10]c}, whakA]

a n+k
. (g) a\F1
lim = §)

oo (g)n+1+1
k

3
akfl :3190“1\_] a:3ﬁ

Sl

14. [o]E¥]

l

—

PolAl y=3"0] Fst= AMS
POl y=a"" o] ot A
l:y=1n3 3"(x—k)+3"

o
= Iy

l:y=Ina a" "(z—k)+d" !

A(k— L,o), Blk— 0014
In3 Ina
a > SO]EE

BE Aurt QEZo] 9lrt.
mebq Bl A9 Ho] FAo|th

1 1
Ak——|=2k— —, =
( lna) In3 @a=9



15. [2REHE] f(T)+g(6)=38
G 25 a, oA S5 bt SIAL
e i G 18. [oltgavi]
7t | 0.6a | 0.5b | 0.6a+0.5b P(X=2)7} ot A0 &g
H7F) | 0.4a | 0.5b | 0.4a+0.5b Arote ™ (1,3),(2,2),(3,1)90 74Qo]ct.
A | a | b | 50 ) (L3)o] Uer Ae >
p __ba_ 5 64
1 ’ 2
6a+5b 6a+5b i) (1.3)o] Jor Ao 5
Py =2P0l8 2, ZJe|stH 64
b= 34 i) (2,2)7) ot 49 o
5 . a=200,b= 120
a+b=320 - P(x=20)=
wreb gety 4 20090l 32
16. [ I 27 19. [A1Aat gHo] PgAl]
. A(A— B)=3Eo|A B o9 WAHAS F5tH
_ 20—y+z—6=0
A =A8 ) L
3 A7 APQOIN AP+ AQ=|AP]
L. B=A-34 'o|o= it FH Afole] Azl FAlo s
AB=BA () 20— b+c—6]>
c. Lof 9sf 6 a
AB(A—B)=A+B OGO wEstDE
A(A—B)=3F0|B& 2
A=9B SHAE a0l Toto] HERYH
= (A+2B)? =44° 13a— 61> =36, a> 00|22 a=4
Alg A7NsHd, Tt b=4,c=4
A4+ AAB+ 4B = 44” atbte=16
AB=A =303 HY 20. [AzZteh4o] 25 - £
A+ 4B =24%=12E e aﬁ" °
4A%= (A+2B) = 214E (&) AC= 2Zcot
Y2 1.u.coltt ARl Al o]5
AC _ AB
17. [3HE AgH] sin26  sinf
~ 1 0
b, =0b, + Z— ____ coty
" cosf
b=y )= ChAl ARQI¥ Aol o]
: Ac _ cD
0, =S —S, sin(r—36)  sind
2 n n— . 0
a, =(n2=n+1)n—1) o 251n9cot5
CD= ————
gln)=n*—n+1 sin30
2
AAAL - ThrowltAway, AlZ2UWA], Kudoya 223 7159



20158t &= OjstashsdA g
sinf —, —=
S0) = BC+ CD
. 4
s hn1{0>a9w)}=-§
9—+0
21 [A12849 88 - 5]
(1,0)2 (2",m)& Xt AL |
m
liy= (zr—1
Yy om _ 1 x )
qAB |olge set st
5:l(2n_1>2 /m
2 om _q
5= holA
2
(2"—1)+1 < 2™
nil“);] [[H, m=1
n=24 I, m=4
n=34 W, m=6
_{1( =1)
U = \2n(n=2,3,4,)
10
: Ean =109
n=1
22. (239144l
z+6=32, x =26
23. [o]&d
fx)=— sinz +8e*®
.'.f’(O):S
24. [9R AT} 254
Val—6r—1=t2 g

tP+1—t=3, t=2,—1
t>o00]82, t=2
\/x2—6x— =204
P —6zx—5=
RE Ade

K =25

o

k=—5

ok

AAAL - ThrowltAway, AlZ2UWA], Kudoya

25. [239] Y &g
Er=100E,
P, =20l0g255— 10logF 4
Pp=20log255— 10logl100 L,
P, — Pp=10l0gl00 = 20

26. [5=2%]

a<b<c<209 X7 95j
20 o]ste] =45 5 555t 7S
T 499 4= #5tH "ot
20 o]ste] =4+ F 107fo]lm2 st
AUAL S Y v 0
10H3 1203 220

27. [O]RI5A - EFY]
FF =25, FP+ F P=60]A]
FP=2,FP=4
A QF F9 dolg St ot
5= %ﬁx FO=12

28. [H&24¥]
fx)=(a—x)e"
f'(@)=00] P st= 25 oW
r=a
fla)=—e"< 00|82 z=a0lA f(z)
= A SIS 7HAIchH
fla)=¢e"—(a+1)=32
ZMI & Adog 2Rl HE9
dol2 st ¢
Szf 3edr—3a=3f(a) =96

0
B3 A8 7]z0]



20158t ¢ gfjstast=aHA|d 48 BY A

29. [Bt=R T FIHAE]] 30. [o]£%]
T5 zyBHo] £Aol1 OPE AU flzh)o] Jgme k7t 24 o, #a
gHoe Aapx THstsjEA} o] uj A wo] 271K EH2 YR
P QYo e Aot P ot b
A AL2 UHE & gl

/-qf‘:n: f{e=2m—1, m=12,)

==

B9

™
d
N
fufol
>
ne
£
rr
|J
o
i)
my
o,

||

|
—
=

A

w= fletlle=2m, m=12-1)

i
Lo
aid,
i

g
/

[+

PZ ayBHol FAGA He H A1 e AL HA A 0ol s
ol W, OH= PH=50]tt. PQ=2% sict.

UEFEE W oS F ayFH

oIt 22 6. 2 Pog=2012 Bt A o) <1007 w)1= 321718
cel Fols s2t o, §=mcosd o2 o, z=—-19 Yt a2 <—19
57} ARl 2742 coso7h HTHQl 27t W2 LhrolA si5w wct

olc. 0|5 o]&sto ¢'(z)E FIHEY

i) P7F @Yol A= 4% .
1 100f'(x)*g{f(x%)Jrf(x?’“")}(x > —1)

o="—0,. c056’1=5%0ﬂ}\-]’ COSg:% J(2) = i
i) P2t QolPfoll e A9 1007 ()= 5 () DHa < -
0= 01 costh =0, cost =2 %;—];;?;;(7—}1%—2;15 glo) e Ae

D), A cost®] RS 7 /(- 14+0)= 100 2~ ML) )
Smax:%” g (—1-0) :71007(7m277m(mz+1) eQ)
pra=? oA m =10

m=102 O, n=19,200] 7Fs3}c}.
et RS AFAS 0o Fe 39

RIAA}F @ ThrowltAway, Al Z2WA], Kudoya 2428 71&EY



